. MATH 3A (Fall 2001)
Instructor Roberto Schonmannl e
Mldterm Exam ~ '

First andl\/hddle Names: '

Slgnature'

UCLA id number (1f you are an extensmn student say so)jul il

Circle the dlscussmn sectlon in whlch you are enrolled

2A (Tue. 9am, Rahul) 2B (Thnr 9am Rahul) ZC ('I‘ue. Qam=ig Tlm)' :

2D (Thur. 9am, Tim) = 2E (’I‘ue. 9am, Bnan), ‘2F (Thur. 9a.m',} Bna.n‘)’ gt

Provide the information asked above and write your name on the top of
each page using a pen. You should show your work and explain what you are
doing; this is more important than just finding the right answer. You can use

the blank pages as scratch paper or if you need space to finish the solution -

to a question. Please, make clear what your solution and answer to each
problem is. When you continue on another page indicate this clearly. You
are not allowed to sit next to students with whom you have been studying:
for this exam. ‘

Good Luck !
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O 0 3) (10 pomts) Compute bso ) that f (x) below becomes contmuous at a1
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4) (10 points) Find the equation of the tangent line to the graph of the

function f(z) = z + +/z, through the point (4, 6) i
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-5) (10 po1nts) Compute the ﬁrst and second denvatlves of the functlon f ( )= e
sm(x +1) E S R A , :
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6) (10 points) Compute the derivative of the function h(z) = i} :
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8) (10 points) Use a lmear approxxmatlon to the functxon f (x) exp(m) at’
z =0 to obtain an apprommate value for exp(O 01) ,
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Ly = 46+ (g‘(o\ L'x,- o‘>=. 1+ 4 (-z,-a>= 4n

2rp (0.01) & L(_o.m){_ = 14,04



